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1. Topic 1, Volume A  

 

Click the Exhibit button.  

 
In the exhibit, what happens if the source starts sending multicast traffic toward R1 and there are 

receivers registered at the RP?  

A. R1 encapsulates the multicast packets into a PIM register multicast packet.  

B. R1 encapsulates the multicast packets into PIM join unicast messages.  

C. R1 forwards the multicast packets on the S,G tree towards the RP.  

D. R1 tunnels the multicast packets in PIM register messages toward the RP.  

Answer: D  

 

2.Click the Exhibit button.  

 
You work for ISP A. Customers of both ISP B and ISP C must be able to reach all of your customers, but 

your network must not allow transit traffic between ISP B and ISP C.  
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Referring to the exhibit, which two methods could you use? (Choose two.)  

A. Use local preference to prefer the proper routes.  

B. Use the well-known no-transit community.  

C. Use policy to filter routes on AS number.  

D. Use communities to identify and filter routes.  

Answer: C,D  

 

3.Router R5 has the overload parameter configured. Which statement is true?  

A. R5 will purge its LSAs from the network until the overload condition is cleared.  

B. R5 will increase its link metrics to 65535 and will stop forwarding transit traffic to OSPF destinations.  

C. R5 will increase its link metrics to 65535 and will continue to forward transit traffic to OSPF 

destinations.  

D. R5 will send an overload LSA to its neighbors to indicate it is in the overload state.  

Answer: C  

 

4.Click the Exhibit button.  
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Customer A is complaining that CE1 and CE2 cannot form an OSPF adjacency across your LDP Layer 2 

circuit. The physical topology of the network is CE1-PE1-P-PE2-CE2. PE1's loopback is 192.168.5.1, P's 

loopback is 192.168.6.1, and PE2's loopback is 192.168.7.1.  

Referring to the output in the exhibit, what is the problem?  

A. mismatched virtual circuit ID values  

B. mismatched interface encapsulations  

C. incorrect PE-CE interface configuration  

D. extended LDP neighbor not established  

Answer: B  

 

5.Click the Exhibit button.  



The safer , easier way to help you pass any IT exams. 

5 / 5 

 

A LDP Layer 2 circuit is shown for VPN A and VPN B. LDP tunneling over RSVP is activated on P1 and 

P2.  

Referring to the exhibit, which statement is true about the LDP Layer 2 circuit?  

A. MAC learning is needed and using the inner VPN label between PE1 and PE2 for VPN A or VPN B.  

B. Targeted LDP sessions are established between PE1, P1 and P2, PE2.  

C. Label stitching must be configured on P1 and P2 for end to end transport LSPs.  

D. LDP must be enabled on the loopback interfaces of PE1 and PE2.  

Answer: D 


